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1. XEamIeddr . I@#H~e, SEABERDNTRS THRS. EEasg o,
Bt MECSHeEHT, RERFRAOESTREY (ERRSE).

7 & | Il FR &
FHE (kgt) 5 9 60
MI#EA (W) 4 6 50
MI#EB (hit) 3 6 40
fliE) () 6 7

2 BEREE, MREEHUSAREREDTER: D BFES | WaRRg, K228

| R FEE E0E, B RIFESAVHNIREATH, RYBHFAURY (ERR
ft).

max z = 5x, + 6x, + 3x,

X+2%,+2%,=5

3, SRR gl +5x,-x 23 @M REERDY CERRAR.
4x +7x, +3x,<8

},iﬁﬁ,xz 20, x,<0

= HNE G0
maxz = 2x, + X,

2x, +2x, <4
R ER 1% AU i) A

x +3x, £3

x,x, 20
(1) FIA AR RAMRERDERE. 84)
(2) FIARAERERAERERRRE. (124
=\ RANMM (H 2554, 1004)
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